

Converting Celsius and Fahrenheit (I)

Estimate or convert the temperatures.

$-97^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-34^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$8^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-42^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-26^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-73^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$72^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$64^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$47^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$100^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-14^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-82^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$40^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$56^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$65^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$86^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$11^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-47^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$56^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-35^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-88^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-13^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-19^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-87^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-66^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-17^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$49^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-16^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-19^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$